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9.

10.

20 0T5001

By drawing a neat sketch of fully panneled door

show its various components. 3

Th fScdaR T¥drel & W8 IGfuF d-TdY
s faffr=1 srqaal &1 fea |

OR(3721dT)

Describe the method of construction of a water
bound Macadum (W.B.M.) road.

il | Abled Gsd @ fHior &1 fafer &1
aufq ¥ |

By drawing a neat sketch explain the working of a

septic tank.
P 8

Afted b &1 Y@ F diaer s -t
&+ D) fafer &1 qoiea Y |

OR (31214r)

Explain working of a gobar gas plant by drawing a
neat sketch.
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Time : 3Hrs. Sem. V/ Ag. Eng.
F. Stuc. & Est.
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol & SR <, TAS U &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR (3121d1) (ii)

The size of a hall is (4mx10m). The hall has two

doors (1200 x 2100mm) and four window

(1000 x1500 mm). The section of its wall is shown

in fig no. -1.Calculate the quantity of first class brick (i)

work in foundation and plinth.

\"4
300
50 mm Thick
I DPC (1i1)
—400 600
G.L.
Y/
200
I_l«_— 600 —] 200
] 800 12)0
1000 200
AANANANANANANNNANNA [300 (iv)

b 1200 —

(All dimension are in mm)

Fig no. -1

3 11501
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(31) Ryent

(@) dbx
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(]) Sdygaa w+

In a loose soft soil which type of foundation
is the most suitable:

(a) Pile foundation

(b) Well foundation

(c) Spread foundation

(d) None of these

Slell gerraw gt W fod gadrR @1 i
94 SYad 3

(31) urger fiq

(@) g3t i

SR GIEEIE

(]) s 9 BIg L

For 6-9 meter span in inclined roof which
truss is suitable:

(a) Queen post truss

(b) Fan truss

(c) King post truss

(d) None of these

P.T.O
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OR(3721d1)

Describe the method of construction of a cement
concrete floor.

Pc dpic B g9 P fAfer &1 gofq BN |

8. The size of a hall is (4mx10m). The hall has two
doors (1200 x 2100 mm) and four window
(1000 x1500 mm). The section of its wall is shown
in fig no. -1. Estimate the quantity of the following
items
(1) Earth work in excavation in foundation. 8

(11) 1:1%: 3 cement concrete work in foundation

300

50 mm Thick
DPC

‘ 800 200
|H—1000 200
[AANANANANNANNA |300
—— 1200 ——

(All dimension are in mm)
Fig - 01

O0T5001

(vi)

(vii)

(vii)

(viii)

5 11501

o3l T 7 @ B9 -
(31) o a9y

(@) S 'R BT U
(&) a1 &1 U

(%) asf &1 i

Damp proof course is provided at:
(a) Lintel level

(b) Ground level

(c) Plinth level

(d) Roof level

TR YT foa vag w e smar 2-
(a1) foreet A R

@) 4 & |ag )

@) w4t aa =

(2) ®d @ Gdg W

The quantity of wood work for chaukhat of
doors is calculated in:

(a) Sq.m

(b) Cu.m

(c) Meter

(d) None of these

P.T.O
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OR (3121an)

Write the purpose of soak pit.
JaeNyol 3 &1 ITARramRt & foad |

Explain preliminary estimate and plinth area
estimate.

YRS Yadad Ud Gl dd &3 yrddd
B AT N |
OR (3121a1)

Write the necessity of Damp proof course at plinth
level.

3l ad R TRIE @aT DT ATTTIAR#
51 ford |
Write the name of different type of doors used in

building. 4

gl ¥ SUAIT # 3 drel A YR &
Txdarell & e ford |
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(x)

(xi)

(xi)

(xii)
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() (a1) wd (9) =
(€) 379 9@ @I T

Curing in concrete work should be started
after casting:

(a) 5 hours

(b) 48 hours

(¢) 2 hours

(d) 24 hours

PHbIc DI aRIS Golls ® fhd- IHI dIg
giR¥ SRl ATy |

(31) 5 B¢

@) 48 ©<

(@) 2 @<

(]) 24 &<

Which of the following method of estimate
is the fastest method:

(a) Centre line method

(b) Long wall short wall method

(c) Both (a ) and (b)

(d) None of these
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(31) 5—10 ©T
(@) 4—8 ©<
(A) 12—24 =
(]) 2—3 =<

GROUPB

Answer all Five Questions.

aHfl ufg gl @ SR
2.  What do you mean by Shallow foundation. Write

4x5=20

the name of some shallow foundation.

ool fT @ T wasd 2 | ¥ Bod
fal @ I ford |

O0T5001

(xiv)

(xv)

(xv)

(xvi)

9 11501
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@ forv O "eg ¥NT & SeT feAr Srar
2, o @ed 8-

(ar) ere

() fawe

(A1) DR

(]) Sugaa w+

A wall is 20 meter long and 2.5 meter high.
What will be quantity of plaster work on both
sides of wall:

(a) 50 sq -m

(b) 40 sq -m

(c) 80 sq -m

(d) 100 sq -m

Uh AR B TS 20 Hiex & T
B! SHArs 2.5 HieX 2| AR & <iAr
TP WX SR BT A9 /T BITT—
(@) 50 @i Ho

(@) 40 T o

(&) 8o a #o

() 100 T #Hio

The apex line of inclined roof is called:
(a) Ridge

(b) Hip

(c) Cable

(d) Valley
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11.

MeR 19 W< & W R diaer g9
&l Hea b fafer &1 gofa &Y |

What do you mean by Sanitary Engineering?

Describe its importance for public health.

Tqeodl -R—RT 4 91 q9s 8?2 o
ey § @l e &1 avfa wW |

OR (3721d1)
Describe various components of a pump house.

Uh 9 B8 @ fafir=1 srqual &1 qufq & |
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11.

MER 19 Wi & W R~ diaa) sqa
&l Hea b fafer &1 gofa a3 |

What do you mean by Sanitary Engineering?

Describe its importance for public health.

Tqeodl -—RT 4 91 q9sd 8?2 o
wareed § @ e &1 9vfa wY |

OR (372rd)
Describe various components of a pump house.

Uh 9 B8 @ fafi=1 srqual &1 qufq & |
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